DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the Test: Departmental Test for Officers of the | ‘

Cooperative Department - Book - Keeping | ‘
(Without Books) | 057 ‘

I

Maximum Time: One Hour Maximum Marks: 40

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qamen@M euems eNeTITSHHmer

Read the following instructions carefully before beginning to answer the
questions.

aNedHEp6HE oL WeaNéssd QHTLRIGD (LT SPESEL. M6 mHn s
SHEUSTILOMSLI Lilg H&H6YLD.

1.

This computer based Test contains 40 number of guestions in objective
Type.

Anss satefll eulfls CoHioumsg), 40 QeTAGM eumEHUNeLTE ElESTTHSHEM NS
Q& TEBuTL &)).

. Answer all guestions. Each question carries one mark

M HG  ANaITEESERHGL el Wweldseld geutleur(m allermaid @
LHIQLETT 2 6nL WIS

In case of doubt, English version is the Final.
aNenésefed #HCHaHL QU HRdlew eugeled C&HTHEHSULL (HeTer
eNenT&H&HGen @mISITeS).

. Words of masculine gender in these questions shall, where the context so

require, be taken to include feminine gender.

Ans eNsmdseflsy QLD QumIETeT 681 LTS SHeuiflent euNj&Hengseafev
Cameulilig e, &LNGECHHU  Quetsr  UTedledGeufles  EUMTHEMSSEHLD
SILRIGLD.

Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

efNsmemliugmrysen  sevsll el Cajalme@ oL weléEsd COHTLRIGLD
wett  seelluiesr  Heogulleb  CoHMaTMID  HHQYEDTHEMET  HEUGTILDMTSL
Ulg $&6YLD.

a) One question will be displayed on the screen at a time.

@Gy Crrsded @ alleorm WL HCWL sy Henguiled CHmeTmLD.

b) Time available for you to complete the examination will be displayed through

a countdown timer in the top right-hand corner of the screen. It will display



Double Entry System was introduced in the year
Qe udley wep HHPSLLESSILL L e[

(A)  A.C.1394
£.9. 1394

IA(C) A.C. 1494
&.19. 1494

Double Entry System was introduced by
@rre udey apanp dlpslLGSHweu

(A) Adam Smith
L 1D m’uu_‘ﬂr{;)

(C) F.W. Taylor
F.W. QLieorr

Which of the following is correct?

Fihdsareaipdle sflwrer eflenL erg) 2

(A) Asset = Capital — Liability
Qangg = (psed — GUTYLL&ET

(C) Capital = Liability + Asset
psed = QumTLiL&eT + dengg)

Capital — Rs. 3,00,000/-
Calculate the value of Assets
(pSed eh.3,00,000/-

(A) Rs. 1,00,000/-
¢r.1,00,000/-

(©)  Rs.3,00,000/-
etb.3,00,000/-

4 (D)

) ©)

A.C. 1484
£.9. 1484

A.C. 1594
&.9. 1594

Alfred Marshall
@I DTTa%Rd
Lucas Pacioli
arésmev Limed Guimed)

Liability = Asset + Capital
Qurmitiser = GQersg + (PSD
Asset = Capital + Liability
Qansgl = (WP + QUTMILILIGET

Liablity — Rs. 2,00,000/-

Quirmriyser 5.2,00,000/-
aanCGas Qenggssaflen LHIMUSE saTsEl[Hs.

Rs.1,50,000/-
er.1,50,000/-

Rs.5,00,000/-
e.5,00,000/-
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5, Good will 1s an example of
pHCLWIT THSSGHTLLMTE @) (HLILIE
(A) Current Asset (B) Fixed Asset
BLLiL Qersg sen Hlenaw QETsg ser
/\(C) Intangible Asset (D) Tangible Asset
LeuaaT Glgmgg)ser Levenm@ld Glemgg)aer
6. Discount received is an example of
sifle) QubHDg rOESHEET LTS efleTmhiGeig
(A) Real Account (B) Personal Account
Qendg sanrés, DYETEFTT HEWTEH(S
(C) Nominal Account (D) Both (A) and (B)
\A Quuwyere| sewés (A) wpomid (B) Grer@Hibd

The origin of a transaction is derived from the
Bl el demsser GCarppb Gumeg)

(A) Accounting equation (B) dJournal
sedd 6 Fweru (b GSHUCUE

(C) Ledger M(D) Source Document
CuGy@ LB <D}, 6 GBI &6

8. Cash purchases is recorded in the book of
Qués Qenarpse uFuiu@b gh
(A) Cash Book (B) Purchase Book
\/\ Qurés o) Qararpged @
(C) Purchase Return Book (D) Sales Book
Qarerapsed Sl e eflpuener &
9. (toods purchases for credit is recorded in the book of
FIHEGHMET SL@ISE UThGSD cTeuGoulige uHwriLH &g 2
(A) Purchase Book (B) Purchase Return Book
/\ Qamerpsed &b Qamarpge Hmuu g
(C) Sales Book (D) Sales Return Book
eflHLener e epuenar i e

040/DM/23 4



10.  Goods returned from customer is recorded in the book of
aimg&enauinert Hliueliyb #réeE uHuiun g®

(A) Cash Book (B) Purchase Return Book
Qyrés e Qamerpsed SHmriu @

(C) Sales Book (D) Sales Return Book
eflhuenat &) v eipuener Smii @

11.  State which of the following errors will not be revealed by the Trial Balance?
SpssaL Qenpseie Guouumie Geeflliu@ssm Wepaw GHUGES.

(A)  Error of complete omission (B) Error of Casting
\4 W B Genip Fal L Genp
(C)  Error of Partial omission (D) Error of Balancing
U@&d A6 Wenw @ Lys L6 Yenip

12.  State which of the following errors will be revealed by the Trial Balance?
Sipssar Neypseid @muumnie Qaefluiu@sgn Gopowu GHUG9Gs.

(A)  Error of complete omission (B) Compensating Error
Wpp NH Gevip @ e Genyp
(C)  Error of Partial omission (D) Error of Recording
Vv Ligd @ Genip e Qg benp

13.  Cash is classified under
Qyrés &/ auemsliLEES UL (HeTeTg)

(A) Nominal Alc M (B) Real Alc
QuuITeTe| HETHE Qenggs samés
(C) Personal Alc (D) Representative Personal A/c
SLETETT HENTEHS Gy HSsgies DpeTamt HaHE
14. Nominal Accounts having credit balance represents
QuWETe| SaTE®E, e sereuleaarn @GDlLLIg)
(A) Income/Gain (B) Expenses/Losses _
/] GU(IHLDTETLD OHMID BhGTILIMBISHET Q& &eT WHMID BL L HEI&ET
(C) Assets (D) Liability
Cenggisar QuimmiLiL|geT
5 040/DM/23

[Turn over



15. A Debit note is prepared for
Lupms GHuy swurfltiug agne

(A)

(©)

v\

Purchase
Qamerpgen

Purchase Return

QaraTpse HmLuib

B)

(D)

Sales
el Lien et

Sales Return
eflhuenar dmLiub

16. The Asgets are recorded in books of accounts in the cost of acquisition is
o Hsaflle Qensgsamer sauperp aurmdu aflenauie LHeaig

(A) I)ua_ll Aspect_ concept M (B) Historical Cost concept
@rlenl g Heeniné &(HSS) LITEar L && ellened &(Hba)
(C) Matchling concept (D) Revenue Realisation concept
QuT(HESHIOSS &S QUREUTL STe|d &(HbHE)
17.  “Anticipate no profit and provide for all possible losses” - represents

‘Qarusms adiCprésnCs. amd Jmarsg THIUTTEGL pULBGEES RHES
Glewis” GmiLg

()

(©)

Cost benefit principle

(B)

9L &ssellene Uwerurl (& Caretans

Materiality principle :

> @menln o TG Qanerens

(D)

Consistency principle
Qarirédl wrys Csmerans

Prudence principle
wearQarseféms Csnarams

18. In accounting, only those business transactions and events which are financial

nature are recorded
aenlls pLalgsmsseld Bl eriy 2enLw

Lgutiu@eug)

(A)

(©)

Accounting Entity Assumption

(B)

e safllbHenenin gnTerid

Going concern Assumption
Hpieuens Qami&dl sigwnarnd

/\ (D)

pLalysmsseT GG  samrdsluad

Accounting Period Assumption
SETSE IO ST e DTELD

Money Measure Assumption
vaer LEHUSEE igoreard

19.  Traditional approach of accounting is also called
LyTse samsdwd sai@pepuen wHGDTH Guwi

(A)
A (€)

040/DM/23

Accounting Equation Approach (B)
sadEuied goarUr( emIGEPaD

British Approach
QAL L e SigI&HPeD

American Approach
S f&Es BiemiEpaD

(D) Indian Approach

@pIHu @GP




20.

21.

22.

23.

Purchased goods from Mahesh on Credit should be credited to

m@es@ aarualfllBlphe &TéE sLams Qardapsd CalissnE aure| meauss Goudmiul
&I (&,

(A) Cash Alc | (B) Mahesh Alc
Qrrés &/ V) wCases &/

(C) Purchase Ale (D) Purchase Return Alc.
QaTeTpse &/ Qanerpse Hmru &/ @

The Book which contains a classified and permanent record of all the transactions of
a business 18
a(p Qamflaler Smansg pLelgsmasameru|d euamasliLBss Brbsrons ude| Qaulieig

(A) Journal \A(B) Ledger
@GOG CuGrl®
(C) Trial Balance (D) Balance Sheet
@ pLiumiey @ Ly Blenevd@mlliL

The Process of transferring entries from journal to the ledger
GNIGUL Ige(mibg LSajsamaer CLGT 14 wIHH gD e

(A) Matching 4 (B) Posting
Qupdgiams T (HSC (B0

(C) Recording (D) Writing
Lglge T(PEIBH®

The person who prepares the bill is called
wirHm Flgener sumt Gletiueurr

(A) Drawee (B) Drawell'
THSDBT '4 eT(LpSIbT
(C) Payee (D) Payer .
Qegsst GuUmIBT Ceeusg e
7 040/DM/23
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24. On 1st January 2003, chandran draws a bill on Sundar for 3 months, its due date is

gaeufl 1, 2003 <emmy spdlyen, apst Bg @@ pam LTS ST WLIHME Sgomen
er(pdl@TTi. YDLIHYF &L Ig6T SEUMERT BITET

(A)  31st March 2003 (B) 1st April 2003
g 31, 2003 glige 1, 2003
(C) 3+ April 2003 (D) 4th April 2003
gliged 3, 2003 v gLiTe 4, 2003

25. A bill discharged before its due date 1s
prhmE el ghpeur, seuament BprEhsE parGu Agransulear CFg)ss s

(A) Dishonour (B) Renewal
<aldés11U RS0 Yglu9gse
(C) Retiring (D) Discounting
‘/\ RIS |LIHSHISD saT@EpLly Qalge

26.  The Journal which records the entries which cannot be entered in any subsidiary

books
gioar gsalld LHu ApywTs HLaIgs@sS®ET LSle, Qe g

/\ (A)  Proper Journal (B) Cash Book
pespuirer GHuGUE Qurés @
(C) Bills Receivable Book (D) Purchase Book
QuyeaushHGiu wrHméE L6 g6 Qamerapsed &

27.  The year of Negotiable Instrument Act
/mrrﬁ)gl@pemm DpeuenTE FUL LD - @I(HLLD

(A) 1871 v\ ® 1881

(C) 1891 (D) 1991

98, If a cheque sent for collection is dishonoured, the debit is given to
QIGHIEE S@UUiULL sTCsTme SiaundésiiulLmd LTHD Qeuwudu@ib sauésE

(A) Supplier A/c (B) Bank Alc
s765HCHNT &/& aunudl &/
(C) Customer Alc (D) Bills Alc.
'/‘ QUM HENSWITETT &/ (& wrHmEE G &/

040/DM/23 8




29,

30.

32.

v\

The entry that affects both cash and bank accounts
P Udle| Cyrés sarée LOHMID ek samde @raremL b Urdéssd

(A) Contra Entry
ardliriudlay

(C) Double Entry
@nle tiudla,

Overdraft means credit balance as per
GuéeuenriiLhm eurey @) mLider

(A) Cash Book
Qurés g@®

(C)  Purchase Book
Qanearpse 6@

Single Entry
@pepLiLSe
Purchase Book
Carerapse o[

Bank Pass Book
aumidl GeaGa(®

Sales Book
eflpLener 6

The Bank Statement shows an overdrawn balance of Rs.2000. A cheque for Rs.500
drawn in favour of a creditor has not yet been presented for payment. When the
creditor presents the cheque for payment, the bank balance will be

andls savsshéms 5.2000 Cuoaeeayl upm &l (dpg. sLafBECsnmés elss
srCeree 5.500 @gemy QegsgmasE aeflamaiiupssuusdame. sLablsrt
srGsmee Csqsg masE aralameliL(dgbEur(pg ksl saré@ @ mUL

(A) Rs.1500
er. 1500
(©)  Rs.2500
e5.2500

Bank reconciliation statement is prepared by

curld #flasl_ b U iguiene sumiliue
(A) Bank
aunISl

(C) Customer of a Bank
curiSluGler g &endWImerT

) (B)

Rs.2500 (overdrawn)
e5.2500 (Guwéeuent)

Rs.2000 (overdrawn)
er.2000 (Gédeuent)

Creditors of business
cuanflag e &L et

Debtors of a business
cuentlagdl e FHL_armet

040/DM/23
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33.  Goods taken by the Proprietor for Domestic use should be credited to

2 flevownen gerguenlw GOOU LLEISESTE TOS5E QETRTL  srsms,

Cauarig wig)
(A) Proprietor’'s Drawing Account (B)
LY &/
wA (C) Purchase Account (D)

QaraTpse &/

34.  Advertisement Expenditure is
elleThLiré QFe sET eramig)

(A) Capital Expenditure (B)
pgeSlens Leae|ser

(C)  Deferred Revenue Expenditure (D)
4 Ber Lwar aupeuriens Geewe sar

35.  Commission and Discount received 1s
&0 sy LHMID SeTEplly. CUDDE

(A) Capital Receipt (B)
(pgedler eure&seT
(C) Revenue Receipt (D)
m aumaTuiler alrelser

Sales Account
puener &/

Capital Account
LPED &/&

Revenue Expenditure
aupeumuiens CFaeser

Revenue Receipt
qu(meuTUdEr aureseT

Revenue Expenditure
aumeurlers Qe ser

Capital Expenditure
WpoSlens Daaeser

36.  Amount spent on acquiring a copy right is an example for

LIy fen QupéE Gewe) CFLsg)

(A) Capital Expenditure (B)
A padears Qeway
(C) Revenue Receipt (D)

au(hauiler eurey

Revenue Expenditure
aupeumudens Gaeey

Capital Receipt
Wpadlarg ewa]

37.  Amount paid to bring the goods within the municipal limits
BT ereemeuder srsdlenar Camam He(Hn Gurg 2 dremT flé@ Cexisssd eniglig)

(A) Customs Duty (B)
&hig el

(C) Import Duty (D)
@néEind aufl )

040/DM/23 10

Clearing Charges
i&HO_[H& SL_LewThd

Octroi Duty
Bienpe] aufl

QUG ENEI&HS



38.  Which of the following is Direct Expense?
Sipsaam_aundle org Curgé Qemaeser

(A) Salaries (B) Depreciation
glbLaTlh Cguinmard
(C)  Discount Allowed v) (D) Dock Dues

a5 HeTEnLIlg SON(P&HE HL_L_ewrib

39.  Preliminary Expenses is
Qg s Cawe ser ererg)

(A) Fixed Assets (B) Capital Expenditure
Hleanevs Cansgsser Wpsedlars Geaeyser

(C) Intangibel Asset (D) Fictitious Asset
LearmaTé Cansg saer ) shumens CFTsg &aer

40.  Bills Discounted is an example of
a@n@pUg Getiutiuc L orhnEEl [ - a@ss1ssT 6

(A) Long Term Liability (B) Current Liability
Barri sre QummiiL&er By QurmliiLser
(C) Contingent Liability (D) Current Assets
V\ Blapeuenwirls QummliLser BLLi CQFrsg seer
11 040/DM/23
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Register
Number

DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR OFFICERS OF THE CO-OPERATIVE
DEPARTMENT - BOOK KEEPING

(Without Books)

Maximum Time : 1:30 hours Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
elfleurar elenwel&@d eums eblarnsgmer

Read the following instructions carefully before beginning to answer the
questions.
slamésEné@E oL wealss QST_B@GD (pary SDEsaT. SiPle|@IEmen SEUAIDTS Lilg&&a| L.

1, Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued. '

AevL_smer AU Peter canaflsmsss fswrs audulnude, el ssraier Gmnduidad
o g1em BiPls eramanilsmaulorar alleL g6t LHUTEH CelwiuLTg.

2 In case of doubt, English version is the final.

Aemmssefa e6CsslBriden wmda ayald Qar@asuul Garer elamssGer Gmgluimang.

i s Answer any EIGHT questions. (8 x 3=24)
caaCugib e () CadralsEné@ wL b el walléssab.

i Explain Approaches of Recording.
ufley QeliushHaTar SemEGPoDaL - 6HlaTéGs.

2 What is Bad Debts?

GUITTT&&L_GHT GTEITDITE) 6TEIIEMT ?

[Turn over



2 Write notes on parties involved in a bill of exchange.
wrHnEE HLer Ggr_yew puirser updl GHUY apsis.

4, Name the different kinds of errors.

Yenpsafler cuamasaar er(pg.

5. Ascertain the Bank Balance.
Balance as per cash book Rs. 1,500
Cheques deposited but not cleared Rs. 100.
Cheques issued but not presented for payment Rs. 150
QFaGel_igarLilg @)L &Tes.
Qrrés el igenuly euridl @@Ly . 1,500
cumidlufled Clegysdw STCamana® QUGT&ESEME ¢h. 100
s&1Gsrame eflBsgb Lamb QU weraflmaluEdslILLISMma (. 150

6. What is prepaid expenses and explain its adjusting entry?

Wpesal iy Cegsdlu Qseeyser erampmed eTenan? Sjeuhenn ereueury &flsl L LL@bD?

7. What are the methods of calculating depreciation?

Cauinnar sanésdl () (PODSET Wrenal ?

8. From the following particulars ascertain gross profit Ratio
| Rs.
Cash Sales 40,000
Credit Sales 65,000
Sale return 5,000
Gross profit 40,000

Sereumpid efleurriisaner Qaran( Gwrss Goru fgssms sarHs.

6.
Qyrés eflhuener 40,000
sLar eflhuemer 65,000
dfipueans Hpoub 5000
Qs Gemub 40,000

040/DM/23 2



10.

I1.

A and B are partners sharing profits in the ratio of 3 : 2. They admit C for 1/5th share
as new partner. Calculate new profit sharing ratio '
A, B arép sar Lreflser wennCui 3:2 eremp cddlsssler Qarubd udipbg Qsrardernert. euirser

C a@mueemr amlLramewle 1/5 uke @emu ukeE s7 @Qenspg Gersg Qarawriert.

- JafsEpeLw ylu @eru udliey aldsh sansd(s.

What are the sources of finance for a company?

Boingdlen B epeonse wreme ?

Answer any THREE questions. (8x5=158)
eremauCGuigyd epery Cadrals@péeE Wb elerwelssayb.

What are the reasons for the return of goods?

&75G&6T SHULLLOUSHSTET STTTHRSET WTEeU ?

What are the advantages of subsidiary books?

glenen Fhaafle) BeTenLoSEET Wreneu ?

A company purchased machinery for Rs. 1,00,000/-. Its installation cost amounted to
Rs. 10,000/-. Its estimated life is 5 years and the scrap value is Rs. 5,000/ calculate

the amount and rate of depreciation. (Straight - line method)

@ Hmwbd e 1,00,000 wuyder Qubdrsas aurmdug - goar HneusHans
gp. 10,000 Geovafssg, <pHs QubSHrsdear Lwerelllilg STOL 5 WETHSHET BGD.
siger @md wduy e 5000 Csuwrers GCsrevsub, GCsuwmear Aflssmsb
samhliigsse)b (CrTGam( wpeanpule)

What are the limitations of trial balance?

@ rumieler @GapuUTHi&ET eraneu ?
Explain the features of partnership.
galLmamenwufen HApliQweysener alleu.

3 040/DM/23
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III.

—

o
Answer any THREE questions. (83 x7=21)

cremauGuigyd eperm Caearells@néE LB el weflésayib.

What are differences between Book keeping and Accounting?
send@ ghser ugmohuys@h, samsdugisEh @er_Cuuwrer Geaugur(.

Name the parties or groups interested in Accounting Information.
sanEE LD SEOSEND B TupETeT LWall L TeTSE S @(PSSET Wmeur?

From the following trading account, calculate stock turnover ratio and gross profit
ratio. '

Trading account of Mohammed Ali & Co.,
for the year ended 31.3.2004

Particulars Rs. Particulars Rs.
To Opening stock 40,000 By Sales 2,00,000
To Purchases 1,20,000 By Closing stock 20,000
To Carriage 10,000
To Gross profit 50,000

2,20,000 2,20,000

Qemeugpd wrumy sansdamps Fredmuy dpumear llfgsmsub ‘Corss %Gurru’
Adssmsb sansdDs. &g < Hpeasdear 2004 wLMTE 31 o HrserTE
(PlgeIenL_W|D 2,6 HEETET aWTUTTS SeRTéS.

efauytb Csmens efleurid Qgren
B e1h.
Qrisss sradBUuL 40,000 edpuear 2,00,000
GamaTpge 1,20,000 @mdé srsdmay 20,000
ECICERY 10,000
Gorgs @emuib 50,000
2.20,000 2,20,000

A firm’s net profit during the last three years were Rs. 90,000, Rs. 1,00,000 and
Rs. 1,10,000. The capital employed in the firm is Rs. 3,00,000. A normal return on
the capital is 10%. Calculate the value of goodwill on the basis of two year’s
purchases of super profit.
Ppeuarsder &bs aparm wETHEET Gorumisdr 5. 90,000, . 1,00,000, WHYID
. 1,10,000 %@m. Pneuersder LweTuRSSIULL  (PS@ @h.  3,00,000. sTgTreNr
gmnum (PG 10% @b, ewir Qaorusdear @ranh er® Osmeripgsed e
<jigiLienLufled mHGluwiflen Logé?umus; sansS (5 &. _

Explain the characteristics of a company.
Bminsder seranwaar edleufl.

040/DM/23 .4



